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1. Cobinatrial Geometry (CG)

1.1. Body O OO
CG*U000bobuoub BodyOOoooobooooo

1. 000 (RPP)
x,y-0 z00000000000000000000000000000000000

2. O (SPH)
00000000000 VvODOOOoOooooo

3. 00 (RCC)
0000000000000 viooooooooooooo Hoooooooooo
ooo

4. 000 (TRC)
000000000000000 VOOOOOOOOO0O0O0000000000 HOo 0ooO
000000000000 RI OO0 R2000000

5.0000 (TOR)
00000000000 0000000000000 VOOOOOOOO0o000000000
00000 RI0O0D00000O0 R2000000000000000 (n: x/y/z = 1/2/3)0
0000D000D000000000000 410000000 20000000000000
00000000061=0,00 62=2r 0000

Table 1 Data requied to described each bosy type.

Body Type Inp. # Real Data defining Paticular Body
RPP # Xmin Xmax Ymin Ymax Zmin Zmax
SPH +# Vx Vy Vz R
RCC # Vx Vy Vz Hx Hy Hz
R
TRC # Vx Vy Vz Hx Hy Hz
R1 R2
TOR # Vx Vy Vz R1 R2
01 02 n

1.2. 00000000

gobooobO0oUbodyOOOooobooooooobooobobobobobooob4+, —00b
orROODODOO

+ 00000 body DOOOOODOOOOObedyODOOOO0OOOODOOODODOD-
U0obo0 body UDOO0ODOOOOOOObody DODOOOODOOODOODObedyOODO
U4+00 —000O body OO ODOUOOOOOO ANDODDDOOODOOOOOODOOHT 42
O0Obody 100000000 body 20000000000 Obody 10 body 2000000000
000041 —200body 100000000 body 20000000000 DObody 100000
body 2000000000000000O0O00O0OBody UOO0 ORODOUOOODOODDOOOO
orROUOOboooobobOoOoooboooObObObOUObOOoooborRbOOUbODODOUUODOULDODDUODOOD
goobooooboooooobboooo orRbbooobobooooorRbbOObOUOoOROOOD
OorO0O0OO0ODO0ODOOOOODOOODODOODOOOOODOO body ODDDO+0O —0O000O0
gooooogd
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1.3. 000000000
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Figure 1: Examples of Combinatorial Geometry Method.
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000000000 0Obedy 200000 0body 30000000000000
00000 K (O2)0000
K = 43

gboboOooobbUdObody 30000000O0O0OOODO
20000 body UDODOOODOOOO0OOO+0-0ORDODODODUODOOODOODOODDOODO
goooooooboobooooboooobbobbobboobobobobbboobbbbbOoo

Figure 2: Use of OR operator.
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2. 000000000 ucnaicgv.fO00

ucnaicgv.fO ODCGUOOOOODOOOOOO0OODODOOODOOODOCGUOUOOOODOOOOD 4
gogoboooooobooooboobo
2.1.cGcOoooog

uenai.fr0 0000000000000 O0O00O00O0OO0O0OO0OO0O0DLOODOOODOOODOOO
goboboobbooobboon

\
Outer vacuum (region 5)

Al Cover (region 1)

Gap (region 2)

Nal (region 3)

1. 253MeV .
Photon }
Quarz window /
(region 4)
Figure 3: Geometry of ucnaicgv.f
gooouooobobOoOoPRESTA-CGUOODDODUOOUOOOOODOOO
RCC 1 0.00 0.0 0.0 0.00 0.0
8.72 4.41
RCC 2 0.00 0.0 0.1 0.00 0.0
8.12 4.31
RCC 3 0.00 0.0 0.6 0.00 0.0
7.62 3.81
RCC 4 0.00 0.0 8.22 0.00 0.0
0.5 4.31
RCC 5 0.00 0.0 -1.0 0.00 0.0
10.0 5.00
END
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z4 +4
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goboobooboboooboooobooboooo
1. 0ooo

e IUDUIOOUDOOD 1.253MeVO OO
e U0 DO0ODOUODODODOOODOLUDDOUODOODDLOOODDODLDOODOOOLDD
goooo
2.0000000

CGviewOUOooooooooobbooooobobo
gooooooobooooo

gooooooboooo

gobooogoogoog

goooo
NalOOOOOOOOODOOODODDOODOOOooooboobooo

3. jooooobood

3... 00000000: Step 1

egsh OFortran D OO0 000000 Degsh0 0O O0O0OOODOOODOO
obodbooooo0bU0dbibOl parameter U0 OO0 Oinclude
U000000000common 00000000 DO include0O000OOODO
egshU0 Degsh U OO OUOOU include DOO0D0 OO0 Hegs0 O OO
U0O0Opegs0 000 OO0 pegscommons U Jegsh U D OO DODOOOOOO
O U0oooobDboOoobuodboubD auwxcommons 0 DO OO O0O0O0DOO0OOOO0ODOO
Doooooooooooot
O000OMortranD OO0 00OO0DOODOODDOOOOOOOO0O EGSM4000000O
O UU0000000Oegsh DO OODOOUODOOOODODOODODODO/include/egsbh. £
O 000000 0O/auxcommons/aux h.f 000 parameter 000000000 OOOO
OU000OD0OegsU0DOOODOO includeOO OO

implicit none

include ’include/egs5_h.f’ ! Main EGS "header" file

include ’include/egs5_bounds.f’
include ’include/egsb5_edge.f’
include ’include/egsb_media.f’
include ’include/egs5_misc.f’
include ’include/egsb_switches.f’
include ’include/egs5_uphiot.f’
include ’include/egsb_useful.f’
include ’include/randomm.f’

include ’include/egs5h.f> OO0 UOOODODOOO0ODDODODO common O OOO include

000000000000 00000000000000o0oo0oot
gooboobooobooboobuoboobb0oobobb0b0U0o0U0U0bOd include O
goo

'DO0000000egs5run 000000000000
‘Egs40 cOMINDODDODOODOOOOOO



include ’auxcommons/aux_h.f’ ! Auxiliary-code "header'" file

include ’auxcommons/edata.f’
include ’auxcommons/etalyl.f’
include ’auxcommons/instuf.f’
include ’auxcommons/lines.f’
include ’auxcommons/watch.f’

include ’auxcommons/etaly2.f’ ! Added SJW for energy balance

include ’auxcommons/geom_common.f’ ! geom-common file
integer irinn

000 include 00 OCGOOOOOOOOOCGOOOODODODOOOOOOOOOOOO
000000000000 0000 commonO0OOOO0ODOO
common/totals/ ! Variables to score

* depe,deltae,spg(1,50),spe(1,50),spp(1,50),nreg
real*8 depe,deltae,spg,spe,spp
integer nreg

0o0oooobD0obO0ob0DbDimplicit noneJ 00000000 O0O0O0O0O0O0O0ODDOOOOO
obooobobobobobobobood

Uo0ooboboooobDobDibDDO openD0Uegsh U0 Upegs U OO0 ODOODOODOODOMO
0000000000 0Opegs 000D DOODOODODO 7-2600closeJ0000O00O0OOOODO
U000 openUU000OO0Opegs 000D OO0 open 00000 0OOOOOOOOODLODODO
7-

0
0
0
v26000000000000

open(1,FILE="egs5job.out’,STATUS=unknown’)
open(UNIT= 4,FILE=’egs5job.inp’,STATUS="0ld’)
open(39,FILE="egsb5job.pic’,STATUS="unknown’)

gbobooooooobooog ebbbbbO0o0oOoobOobbO0O0ObDObDOobOoOoDbDbO
oo 1gobooboooooog yoooboboooobbooboboo
ooooooboboOoDo0oobbbbOO00b0000 countersout(0) U callDOO

32. 00000000: Step 2

O00000D00 000D Characteristic Distance
Distance 0 000000000000 OO0DOODOO
O0lem)000O00OO

000000 Opegss0 call0 O OChracteristic
000000 (lemxlemxlemOOOOOOO

call block_set ! Initialize some general variables

nmed=3

medarr(1)="NAI ’
medarr(2)=’AL ’
medarr (3)=’QUARTZ ’

do j=1,nmed
do i=1,24



media(i,j)=medarr(j)(i:i)

end do
end do
chard(1) = 3.81d0 ! optional, but recommended to invoke
chard(2) = 0.140 ! automatic step-size control
chard(3) = 0.5d0

write(1,*) ’chard =’,(chard(j),j=1,3)

write(1,100)
100  FORMAT(’ PEGS5-call comes next’/)

OO00O0OcUOOOO0OO0OOODODOODOOOO0OOCGUOOOOOOOO csTADOOOOODOO
OccOOoboooooooobbegOOOODOODOOOOOOO0O0O geomgt U callOOOCG
O0oo0ooooooooooooooooOooboobocecGcOoooobooooooboooooboon
O000bOoboooooboonifte0 039000000 00000O0CGOOOOOOOOODOO
CEND DD UO0OOcgOOODOOOODOOOO0DOOOOO nregdOon
! _______________________________________________

! initilize cg related parameter
| -

npreci=2 ! PICT data mode for CGView

itbody=0

irppin=0

isphin=0

irccin=0

itorin=0

itrcin=0

izonin=0

itverr=0

igmmax=0

ifti = 4 ! Input unit number for cg-data

ifto = 39 ! Output unit number for PICT

write(39,100)
100  FORMAT(’CSTA’)

call geomgt(ifti,ifto)

write(39,110)
110  FORMAT(’CEND’)
! ________________________________
! Get nreg from cg input data
g g g M

nreg=izonin

if (nreg.gt.mxreg) then

write(1,90) nreg,mxreg

20 FORMAT(’ NREG(=’,I12,’) must be less than MXREG(=’,I12,7)’ /

* > You must change MXREG in include/egs5_h.f.’)

stop
end if
obbobodboboddddeg o ooooooooboooooobooobboobobond
UOONalOOOOOO XOOOooOooooooooooooodoobOeghOOOoDbOooooono
goooooboooooooooon
obboobooOoooobooboooooooooouonobodiooododdgoonn estepe

U0 estepe20 000000000 OOOOOOOOOOOOOOOOO0DOOOODODOOOOOO
gooogo



Ranlux D000 OO0 inseed0 00000 O0O00DO0ODOO

! Set medium index for each region
! Vacuum region

med (nreg)=0

med(2)=0 ! Inside vacuum
! Al region
med(1)=2
! Nal detector region
med(3)=1
iedgfl(3)=1 ! 1:Produce flourscent X-rays

! 0:Flourscent X-ray is not produced

! Quartz region
med(4)=3

do i=1,4
if(i.ne.2) ecut(i)=0.561
end do

estepe=0.10
estepe2=0.20
write(1,140) estepe, estepe2
140 FORMAT(1X,’ESTEPE at EKMAX: ’,F10.5,’ (estepe)’,
* /,1%X,’ESTEPE at ECUT: ’,F10.5,’ (estepe2)’)

Random number seeds. Must be defined before call hatch

or defaults will be used. inseed (1- 2731)

luxlev = 1

inseed=1

write(1,150) inseed

150 FORMAT(/,’ inseed=’,I12,5X,

* > (seed for generating unique sequences of Ranlux)’)

call rluxinit ! Initialize the Ranlux random-number generator

3.4.00000000: Step 4

00000000000000000000000000000000 (1.253MeV)0 0000
gboodooooooooooooobooobbooooobooobooobobooooboboooboooo
ggboooobooobboooboobbbobod

! Define initial variables for incident particle normally incident
! on the slab

iqin=0 ! Incident charge - photons
ekein=1.253 ! Kinetic energy

xin=0.0 ! Incident at origin

yin=0.0

zin=0.0

uin=0.0 ! Moving along z axis

vin=0.0

win=1.0

irin=2 ! Starts in region 2, could be 1
wtin=1.0 ! Weight = 1 since no variance reduction used
deltae=0.05 ! Energy bin of response

write(6,160)



160 format(’Key in source type. O:monodirectional, 1:point isotropic’)
read(5,*) isot

35. 00000000: Step b

O00000oooooooboo0o0onooddn emaxel OO OO subroutine hatchd call OO O

hatchO OO0 OO0 O00O0O0ODOO0ODOOOOOOOOODOOOOOOOOOOOOOODOOON
ooooo

00000000 ooooooooboobooOb000ooobooOooDobObO0ooooOob0oOoo0on
0000000000 (p)ooooooo (Hyoooooooo

write(39,310)

310 FORMAT(’MSTA’)
write(39,320) nreg
320 FORMAT (I4)
write(39,330) (med(i),i=1,nreg)
330 FORMAT (15I4)
write(39,340)
340 FORMAT(’MEND? )

write(6,350)
350 FORMAT(’ Key in mode. O:trajectory display, 1:dose calculation’)
read(5,*) imode

3.6. 00000O00O0O: Step 6

gobobooobbobboooobooobobooooobobobobbbooobbobboo
gobobobobbob cgbbO0bOOOO0obOobbOODO0O0bODODDODOODbLOODbOOOOO

3.7. 00000000: Step 7

ausgab0 0000000000000 0DOO0O000ODOO0OOOOOO0OO0OO (h0)0ODBOOO0O
gobobooooooboboooooobobbobooooooboobbbbobbboobooobooo
000000000000 0000000000000000000000000 (nbatch)000
gobooobobooboboboooboboboobobob sobbobbbob

! Energy bin width
deltae=ekein / 50

! Zero the variables
depe=0.D0
pef=0.D0
tef=0.DO0
do j=1,50
ph(j)=0.DO
do nd=1,ndet
spg(nd, j)=0.DO0
spe(nd, j)=0.D0
spp(nd, j)=0.D0
end do
end do

! Set histories, number of batch and histories per batch
write(6,*) (’ Key in number of cases.’)
read(5,*) ncases
if(imode.eq.0) then
write(6,*) (’ Key in number of batch (=<50).°)
read(5,*) nbatch
else
nbatch = 50
end if



ncaspb = ncases / nbatch

38. 00000O000: Step 8

00000 Oncaspb 000 OOODO subroutine shower callUDOOODODOOOODODOO
000000 (mbatch) DO O0ODO

gooboobbooobooooooboobooobooboooobo

ooboobooodNaIDODODDbOOoDOODODOODODOOOOOoDOOobOOobOUbOOUbOobbODOOO
000000000000000000000009.9%00000000000000000000
gobooooooobooobbouooooooooobooboobobOobDbon

O000D0Oncaspp 000 O00O0O0DOOOODOOOODODOOODOO

gooooboboooooobobooobooboobbobbobooboo

do nofbat=1,nbatch ! Start of batch -loop
|
write(39,370) nofbat
370 format(’0’,I5)
do icases=1,ncaspb ! Start of CALL SHOWER loop

eparte = 0.d0 ! Initialize some energy-balance
epartd = 0.d0 ! tallying parameters (SJW)
ekin = ekein
wtin = 1.0
wtsum = wtsum + wtin ! Keep running sum of weights
etot = ekin + iabs(iqin)*RM ! Incident total energy (MeV)
availke = etot + iqin*RM ! Available K.E. (MeV) in system
totke = totke + availke ! Keep running sum of KE
if (isot.eq.1) then ! Sample isotropically.

380 call randomset(rnnow)

ziO=rnnow

call randomset(rnnow)
xi0=2.0*rnnow-1.0

call randomset(rnnow)
yi0=2.0*rnnow-1.0

rrO0=dsqrt (xiO*xiO+yiO*yiO+zi0*zi0)
if(rr0.gt.1.0) go to 380

win = ziO0/rr0

uin = xi0/rr0

vin = yiO/rr0
end if

if (ncount .le. nwrite .and. ilines .le. nlines) then
ilines = ilines + 1
write(1,390) etot,xin,yin,zin,uin,vin,win,iqin,irin,idin
390 FORMAT (4G15.7/3G15.7,315)
end if

! Added for energy balance tests (SJW)
if (DABS(eparte + epartd - ekin)/ekin .gt. 1.d-10) then
write(1,400) icases, eparte, epartd
400 FORMAT(’Error on # ’,I6,’ Escape = ’,F9.5,

10



* > Deposit = ’,F9.5)
end if

! If some energy is deposited inside detector add pulse-height
! and efficiency.

if (depe .gt. 0.DO) then
ie=depe/deltae + 1
if (ie .gt. 50) ie = 50
ph(ie)=ph(ie)+wtin
tef=tef + wtin
if(depe .ge. ekeinx0.999) pef=pef +wtin

depe = 0.DO
end if
ncount = ncount + 1 ! Count total number of actual cases
! _______________________
end do ! End of CALL SHOWER loop

! Calculate average value for this BATCH
do ie=1,50
phpb(ie,nofbat) = ph(ie) /ncaspb
ph(ie)=0.DO
end do
pefpb(nofbat)=pef / ncaspb
tefpb(nofbat)=tef /ncaspb
pef=0.D0
tef=0.D0
do nd=1,ndet
do ie=1,50
spgpb(nd,ie,nofbat)=spg(nd,ie)/ncaspb !photon spectrum
spepb(nd,ie,nofbat)=spe(nd,ie)/ncaspb !electron spectrum
spppb(nd,ie,nofbat)=spp(nd,ie)/ncaspb !positron spectrum
spg(nd,ie)=0.DO
spe(nd,ie)=0.D0
spp(nd,ie)=0.D0
end do
end do

call plotxyz(99,0,0,0.D00,0.D0,0.D0,0.D0,0,0.D0)

write(39,410) ! Set end of batch for CG View

410 FORMAT(’9?)
! __________________
end do ! End of batch loop

3.81. 0DO0O0O0O: 00000000O000O00O0DOOOODOODOOOOODOOOOO
gbobbobbooobobobuooo0oboboDObDOuerznai.f 00000000 MORSE-CGU O OO
gboooobobobbod

e JOUIUDDOO NDOODO

e “N”00D00ODOOODOOO N/OUODUOODO0000000O00D0DOOCOCOODODDODOO
z, 0000

e 200000
17’L
T=-3u (1)

gooogo
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e ;00D DODOODOODOOOO

1

n—1

2 _
S, =

Zj:(acz —7) = ! Zj:(xf —-7?) (2)

e zULUUODOOD

oood
e 'SD(fractional standard deviation) 00O O
FSD = sz /7 (4)
goooo

39. 00000O00O0: Step 9

gobooooobobobobobd
goobobobooboooooobo

gboboboobobooog

avpe = 0.DO
desci2 = 0.D0
do j = 1, nbatch
avpe = avpe + pefpb(j)/nbatch
desci2 = desci2 + pefpb(j)*pefpb(j)/nbatch
end do
sigpe = sqrt((desci2 - avpe*avpe)/(nbatch-1))
avpe = avpex100.0
sigpe = sigpe*100.0
write(1,470) avpe,sigpe
470 FORMAT(® Peak efficiency =’,G15.5,°+-’,G15.5,” %)

NI

avte = 0.DO
desci2 = 0.DO
do j = 1, nbatch

avte = avte + tefpb(j)/nbatch
desci2 = desci2 + tefpb(j)*tefpb(j)/nbatch
end do
sigte = sqrt((desci2 - avte*avte)/(nbatch-1))
avte = avtex*100.0
sigte = sigtex100.0
write(1,480) avte,sigte
480 FORMAT(® Total efficiency =’,G15.5,°+-’,G15.5,% %’)

goboobobobooodNalDODOOOOobOobOobobooobooobobobobo FSspooOd@
gooo

3.10. Subroutine ausgab

AuscARD U DO OO0OUoOoooOoObOobOObOOooOObObbOO00ooooooobooooooooo
OO000Oinclude D00 ODOO0OO0OODOOODDOODO

12



iwatch U0 00000 O0O00D0O0O0ODOODOOOOOODOOO0O0O0OO0OODOOOOOOOOO
goooboobd
iarg < 500000000000 100000ODOOODOOOOODLOOOOODOO0ODOOOO0

00000 1(Na)ODOODOO0O0O0O0OOO0O0O00O0OO0O0O00O0O00DO0OO0O0O
goboboboobootbobooboooobobooobbbooobooobobbOobDbOooboD
goboboobooooboboobooooooooboboooooobo

iql

if (iarg .1t. 5) then
esum(iql+2,irl,iarg+1)

esum(iql+2,irl,iarg+1l) + edepwt
nsum(iql+2,irl,iarg+1)

nsum(iql+2,irl,iarg+1l) + 1

! added SJW for particle by particle energy balance
if(irl.eq.1) then
eparte = eparte + edepwt
else
epartd = epartd + edepwt
endif
end if

if (med(irl). eq. 1) then
depe = depe + edepwt

if (irl .ne. irold .and. iarg .eq. 0) then
if (iql .eq. 0) then ! photon
ie = e(np)/deltae +1
if(ie .gt. 50) ie = 50
spg(l,ie) = spg(l,ie) + wt(np)
elseif (iql .eq. -1) then ! electron
ie = (e(np) - RM)/deltae +1
if(ie .gt. 50) ie = 50
spe(l,ie) = spe(l,ie) + wt(np)
else ! positron
ie = (e(np) - RM)/deltae +1
if(ie .gt. 50) ie = 50
spp(1,ie) = spp(1,ie) + wt(np)
end 1f
end if
end if

if (ncount .le. nwrite .and. ilines .le. nlines) then
ilines = ilines + 1
write(6,101) e(np),x(np),y(np),z(up),ulnp),vinp),wlnp),
* iql,irl,iarg
101 FORMAT(4G15.7/3G15.7,315)
end if

! Print out particle transport information (if switch is turned on)

13



return

end

3.11. Subroutine howfar

howfarJ 000000 DO0O0ODOOOOO0OO0OODODOODOOODODOODOODOOODOODOOODO
goobobooooboooobobbooboobobobbOobOobobobbobobboobOoo
gooobooboooooo

O000Dhewfar OO OUODOODOOOO0ODOOOODOOOODO@disec=1) JOODOOOOO
gbooboobobooooboooboboooooobooboobo

cGhU0DOOU00OUOoubOoUOoUn ucenaicgvfd cgOOO0ODD howfarJ OO OODO

4. ucnai.f 0 ucnaicgv. f 00000000

000000000 0000D00Deg0O0DODOO0DODO0O0O0D0OO0O0O000D00O0O howtfar
O0o0o0oo00ooo0oooooobooOo00ooO00ooooooooooooboDOoo
0o00Db0gnod uenaifl uenaicgvf D0 0000000000 DODO Oucnai.fO
0Dooooooooooond

OO
o

fccooDOoDO0D00D00000D00DO0O000DD0000D00D000000000DnonO00no0000ooon
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5. Jognd
5.1. 000ODODOONaIODDOODODO
gobooboobbbooboooboooobooobbooobooo

1. 1.253MeV 0000000000 (2-00)000000000000000O00COCO0OOO
oog

2.0000Cs-1370000000000 (0.662MeV)0 0000

3. 0000Coe-6000001.173MeVO 1.333MeVUO DO DO UOO0DOOO0OOOOOO
4. 1.23MeVO 0D DO0O0O0O0ODOODOODOOO 20000

52. 000000 GeODOOODODO

O00D00GeODOO0O0OOOOO0O0OO0O NalOO1.253MeVOOOOOO0OO0O0O0O0O0O0O0OO0OO
gbooooo
3. 00000OOODOOOODOO

ooooboOo20°010000000001.23MeVO00000O0O0O0O000O0O0COOCOOOOO
Oo0ooooooboobooO0ostoobooboO 30000000000 000000005mm 0O AlD
gooooooo

000 WO (33.97¢V/pair) 000000000 10000000000000 (Coulomb/source)
000000000001.602x 1071°Cle 0000
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6. Uoboooono

000000 Qucnaicgv.f00000000000000 10000000000 (egs5job.out)
00000000000 (000 Onai.out)0000000O0

6.1. 00000

1. Point source

e ucnaicgv.f egsdrun [

goooo
e 0UDDDOUOOOIODODOO
goooo

oooono
1000000047800 00000000000 oOoo0oOOo0o0oboooooa
ooono
380 call randomset(rnnow)

ziO=rnnow

call randomset(rnnow)
xi0=2.0*rnnow-1.0

call randomset(rnnow)
yi0=2.0*rnnow-1.0
rrO0=dsqrt(xi0*xi0+yiO*yiO+zi0*zi0)
if(rr0.gt.1.0) go to 380

win = zi0/rr0

uin = xi0/rr0

vin = yiO/rr0

OUoo0oOobobU0oOooOrRejection 070000000000 0OO00 tembOO0ODO
goboooobooobooboooobboooboboo

gooobobbgoboobooooobobob
gobobobooboooolobbobobooob 2000000

gooooooodcCGview”0 0000000000007 Oegsbjob.pic0O00OO O
goooooboboobooooooo

egshjobO O OO ODODO0OOOODOOOODODUOOOIO00OO0OODOOODbbUbLODOD
gooogloooobonbooOO

e JIUIUOUDDDO Hegshjoboout DUI OO ODODODOOOOODODODLOOOODO

2. 137Cs source

e cp ucnaicgv.f ucnaicgvl.f
ucnaicgvl.f O 279000 ekein OO0 0.6620 00000

cp ucnaicgv.data ucnaicgvl.data
cp ucnaicgv.inp ucnaicgvl.inp

ucnaicgvl.f O egsdrun 0 0O O
o000 400000 2500 gooobooboooooobooooon

goboboooobobbobobobobooobo
gboboobobboooooobooobobooboo
gobooboobobooblooooboboobDO

OUo0O000d0d Oegshjobout D OO DO1.233MeVOUODOOOOOODO

gog
godd
°
°
°
°

3. %0Co source

e cp ucnaicgv.f ucnaicgv2.f
e ucnaicgv2.f 00O 0O0O0O0ODOOOO

- 00000oDooD00 12100 ekein0 DOOODOO
— 27900 ekein=1.33300 0000

- oooboooobbooooooboooooo
goobooobooooboooboooo

goooobobooobooon 4690
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call randomset(rnnow)
if(rnnow.le.0.5) then

ekein0=1.173 ! lower energy photon
else

ekein0=1.333 ! higher energy photon
end if

— 00 ekin = ekein O ekein O ekein0 O 0000 0O
—6l0000000000O0000O00O0O00O0DO0O00O00O0O0O0O00OO

write(1,460)
460  FORMAT(’ Results for Co-60 gamma-ray (1.173 and 1.333 MeV)’/)

e cp ucnaicgv.data ucnaicgv2.data

® cp ucnaicgv.inp ucnaicgv2.inp

(| e o o o ™

ucnaicgv2.f 0 egshrun 000 O OO
o000 400000 200000000000 000DO0OD0ODODDODODO

goboboooobobbobobobobooobo
gooobobboolioooooooboobo
gobooboobobooblooooboboobDO

OO0 DD00OO0D Uegsijob.out 000 O1.253MeV
gobooooboooooooobboboooo

200 Nal

obobobooooboobob 200
oog

cp ucnaicgv.f ucnaicgv3.f

cp ucnaicgv.data ucnaicgv3.data

cp ucnaicgv.inp ucnaicgv3.inp

ucnaicgv3fO00O0O0OODOOODODO
— 589000 tdet=7.62*2.0 0

- 000obOooboo0o0o0o0ooooooooooooccoooooooocGooon
coooooooOoooobooodooUdoboboooooooooooooooooo
Ooo0oOoO0o0Ob00O0O0000000 Uucnaicgvddatal O OO

ucnaicgv3.data0 00000 DOODOODO
RCC 1 0.00 0.0 0.0 0.00 0.0
16.34 4.41

RCC 2 0.00 0.0 0.1 0.00 0.0
15.74 4.31

RCC 3 0.00 0.0 0.6 0.00 0.0
15.24 3.81

RCC 4 0.00 0.0 15.84 0.00 0.0
0.5 4.31

RCC 5 0.00 0.0 -1.0 0.00 0.0
20.0 5.00

END

Z1 +1 -2 -4

Z2 +2 -3

Z3 +3

Z4 +4

Z5 +5 -1

END

ucnaicgv3.f O egshrun 00O O OO
o000 400000 200000000000 000DO0OD0ODODDODODO

goboboooobobbobobobobooobo
goobobobbooboooobooboobo
gobooobwooooobo sbobooob

gobooobbDbOcCGrviewd”000000000D0O00DO70 Oegsbjob.pic OO O
goooodoo 20b00b0b0000b0DbO0ob0On

egshjobU O UODO OOODOODODOOODOOOOD1IODOO0OODODbOObLObObOOOn
ggbogblooooboboOon

OooOoOo0O0dOegshjobout D00 DO0OOOOOOODOOODODO
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6.2. 00000

1.
2.
3.
4.

. ucnaicgv4.f O egshrun U O

cp ucnaicgv.f ucnaicgv4.f
cp ucnaicgv.data ucnaicgv4.data
cp ucnaicgv.inp ucnaicgv4.inp

ucnaicgv.4.f0 1690000000000O00

medarr(1)="GE O OOOOO0O ’

OO0000 Osubroutine hatchO OO O OO0 100 00000000000 00000OO
UoooobDobobooobg 2000000 pegsh0 OO O0OO00O0ODLOOODOODOODOO
00000000000 00000 pegsh000000 (ODO0OO2000000000)0

goboobobooo

. ucnaicgv4dinp U 10000 5000 NalODOOUODDOODOUOO GeODDOOOODODOOODO

ooD

ELEM
&INP EFRACH=0.05,EFRACL=0.20,
IRAYL=1,IBOUND=0,INCOH=0,ICPROF=0,IMPACT=0 /END

GE J0ODOOO GE

GE

ENER

&INP AE=0.521,AP=0.0100,UE=2.511,UP=2.0 /END
TEST

&INP /END

PWLF

&INP /END

DECK

&INP /END

gooo
oooo 400000 20000000 0000DO0O0O0O0ODODO0O0OOO

.ooobbboooooobOobobbobobon
.goobgoooboioboooooooon
.gboobobooogooeoooobon
10.

OO0O00000Oegshjobout OO ONal OO OOOOOODO

6.3. 00000

= 0w N =

cp ucnaicgv.f ucioncgv.f

cp ucnaicgv.data ucioncgv.data

cp ucnaicgv.inp ucioncgv.inp
ucioncgv. 000000000 OOO

e 1000000 rea®™OTIDD0O00O0OO0OO0DDOOOOOODDO depepb(50) 0000
0000000000000 avab,sigab,depes 000000 (1250000 12100)

e pegs5 0000000000 DDOOOOOODODDOOOO(I6800 18100)
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nmed=2
medarr(1)=’AIR-AT-NTP O0O0OO
medarr(2)="AL ODO0O0O0OOO0O ’

do j=1,nmed
do i=1,24
media(i,j)=medarr(j)(i:i)
end do
end do
chard(1) = 3.81d0 ! optional, but recommended to invoke
chard(2) = 0.5d0 ! automatic step-size control

e 2310 0000DODODDDOUDOOULOLODOLOOODLDODOOULODLDDDODOODODOD

! Set medium index for each region
! Vacuum region

med (nreg)=0
! Al region

med(1)=2
! Air detector region
med(2)=1
iedgfl(2)=1 ! 1:Produce flourscent X-rays

! 0:Flourscent X-ray is not produced

e 417000DOD0 Udepes=0.D00 0516000 00U depes=depes+depe U OO OO
e 420 00DL0O0L0O 2000000

depepb(nofbat)=depes/ncaspb
depes=0.D0

goooobobobobooobboosssboobuoboobooooo

rtcov=0.1
write(1,450) tdet,rdet,tcov,rtcov
450  FORMAT(/’ Detector length=’,G15.5,’ cm’/

* > Detector radius=’,G15.5,’ cm’/
* > Al cover thickness=’,G10.2,’ cm’/
* > Al cover side thickness=’,G10.2,’ cm’/)

goobooooboboooooooobo pSDOOOOOOO

goobooooboobo
goobooobobobobbbooooobooo

avab = 0.DO
desci2 = 0.DO
do j = 1, nbatch
avab = avab + depepb(j)/nbatch
desci2 = desci2 + depepb(j)*depepb(j)/nbatch
end do
sigab = sqrt((desci2 - avab*avab)/(nbatch-1))
write(1,482) avab,sigab
482  FORMAT(’ Absorbed energy in air =’,G15.5,°+-’,G15.5,’ MeV/photon’)
avab = avab /33.97D-6 *1.602D-19
sigab= sigab /33.97D-6 *1.602D-19
write(1,484) avab,sigab
484  FORMAT(’ Output current =’,G15.5,°+-’,G15.5,° C/photon’)

5. ucioncgv.data0 00O OOOOOOOOO
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RCC 1 0.00 0.0 0.0 0.00 0.0

8.62 4.31

RCC 2 0.00 0.0 0.5 0.00 0.0
7.62 3.81

RCC 3 0.00 0.0 -1.0 0.00 0.0
10.0 5.00

END

zZ1 +1 -2

z22 +2

Z3 +3 -1

END

2 1 0

6. ucnioncgv.inpU O OOOOOOOOOO

12.

13.

MIXT

&INP NE=3,RHO= 1.2050E-03,RH0Z= 0.78,0.2103,0.0094,
EFRACH=0.05,EFRACL=0.20,TIRAYL=1,IBOUND=0,INCOH=0,
GASP=0.93174,ICPROF=0,IMPACT=0 /END

ATR-AT-NTP ATR-GAS

N O AR

ENER

&INP AE=0.521,AP=0.010,UE=2.511,UP=2.0 /END

PWLF

&INP /END

DECK

&INP /END

ELEM

&INP EFRACH=0.05,EFRACL=0.20,
TIRAYL=1,IBOUND=0,INCOH=0,ICPROF=0,IMPACT=0 /END

AL AL

AL

ENER

&INP AE=0.521,AP=0.010,UE=2.511,UP=2.0 /END

TEST

&INP /END

PWLF

&INP /END

DECK

&INP /END

. ucioncgv.f 0 egsbrun D 00O OO

oo 4000000 20000000 00DO0ODLOODDOOODOOOODOO

.ooobbbooddoobbobobobobon
.goobgoootboobobooboooooon

10.
11.

goooob woobobo1boobob

ouboo0ooooibDcCcGviewD”000000O0OODDOOO7O Oegshjob.picOOODOOOO
UboobO0 NalOODOODbOobOoooooboogn

egshjobU O OO OOO0OOOO0OOOOOOOLOOIObOOOOODbOOoOOoooooooDo
goloooo00bOOoon

OUo0O0OOdO0dOegshjobout D00 DDOOO0O0OO0OOO0ODLODOOODOOOOOO
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Appendix 1 Full listings of ucnaicgv.f

1 s sk sk ok sk ok o ok ok sk ok sk ok s ko ok sk sk sksk sk sk sk ok s ok sk skok sk sk ok stk sk ke sk skok sk sk ki sk ok sk sk ok ok ok skok sk sk ok ok ok kokok ok ok ok ok ok
Dhokokokokokokokokokokokokokokokok ok kb kkkkkkokokk - KEK, High Energy Accelerator Research *

Dakokskoksk ok ok Rk okk Rk okdkok ok kR kkkk k- Organization *
¥ 1w cn a i c gv % ok ok ok ok ok ok ok ok *
Dskskokokokokokokokokokokokkokokok ok ok ok okok sk sk sk ko ok ok EGS5.0 USER CODE - 16 Jul 2005/1300 *
Dokt ok ok ook kokokokokokokokokok ok ok kokok ok sk kol s s s sk ok ke ok ok ok ok sk skl sk sk sk s sk s ok ok ok ok ki sk sk sk stk sk ok ok ok ok ok
'+ This is a general User Code based on the cg geometry scheme. *
Dotk sk ook ok ook ok ook ok ok ok ok sk skl s s s sk ok ok ok ki sk sk sk sk sk sk kol S ks s ok ok kR ki sk sk sk sk sk ok sk ok ok o ok
! *
! PROGRAMMERS: H. Hirayama *
! Radiation Science Center *
! Applied Science Laboratory *
! KEK, High Energy Accelerator Research Organization *
! 1-1, Oho, Tsukuba, Ibaraki, 305-0801 *
! Japan *
! *
! E-mail: hideo.hirayama@kek. jp *
! Telephone: +81-29-864-5489 *
! Fax: +81-29-864-1993 *
! Based on ucrtz_sampl4 by Nelson and James. *
! *

ok ok sk sk oo o o ok ok sk sk ok o o sk sk o o ook sk sk o s ok sk sk ok o ok sk sk sk o o ok sk sk ok o ok sk skok o ok ok sk o o ok stk o o ok ko ok o ok ok ok ok ok
ok ok sk sk oo o o ok ok sk koo o sk sk o ok sk ok o s ok sk sk ok o ok sk sk sk o o ok sk sk o ok sk skok o ok ok sk o o ok stk o o ok ko o o okok o ok ok
! The ucnaicgv.f User Code requires a cg-input file only

! (e.g., ucnaicgv.data).

! The following shows the geometry for ucnaicg.data.

! Input data for CG geometry must be written at the top of data-input
! file toiether with material assignment to each region. Cg-data can
!

!

!

*

be checked by CGview.
This user code corresponds to ucnai3cgp.mor for egs4.
! Use Ranlux random number generator.
stk sk o o o ok ok sk sk ok o o ok ok stk ok o ok sk o o ok sk ok o o ok ok o o sk sk o o sk sk ok ok ok sk sk ko ook sk sk ok o ok sk sk ok ok ok sk ko o ok ok

]
]

]

]

]

]

;

! R

i -

! |

! ot - +-—

! I

! | Outer vacuum region

! + e T o= +-—— r=4.41 cm
! I I Al I

! | + Fom +————— +--- R=4.31
! I I I Gap | I

! + + + Fo———— + +--- R=3.81
! I I R | |

! [ | A1 | Gap| NaIl [Quartz]|

! 1.253 MeV | | | | I I

| ==========4——F———F——— = F———— m——————— > 7
! photons 0 0.1 0.6 8.22 8.72 cm

]

]

]

L B B R B B R R R R R

I
1 sk sk ok sk ok sk ok sk ok sk ok sk ok sk ook o o sk o sk ok sk ok o ok ok sk ok sk ok ok ok sk sk ok ok ook sk sk ok o ko ok ok ok ok ok ok ok ok
123456789 123456789 123456789 123456789 | 123456789| 123456789 12345678912

include ’include/egs5_h.f’ ! Main EGS "header'" file

include ’include/egs5_bounds.f’
include ’include/egs5_brempr.f’
include ’include/egsb5_edge.f’

include ’include/egs5_media.f’
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D kokok ok

include ’include/egs5_misc.f’
include ’include/egs5_thresh.f’
include ’include/egs5_uphiot.f’
include ’include/egs5_useful.f’
include ’include/egs5_usersc.f’
include ’include/egs5_userxt.f’
include ’include/randomm.f’

include ’auxcommons/aux_h.f’ ! Auxiliary-code '"header'" file

include ’auxcommons/edata.f’
include ’auxcommons/etalyl.f’
include ’auxcommons/instuf.f’
include ’auxcommons/lines.f’
include ’auxcommons/nfac.f’

include ’auxcommons/watch.f’

include ’auxcommons/etaly2.f’ ! Added SJW for energy balance

include ’auxcommons/geom_common.f’ ! geom-common file
integer irinn

common/totals/ ! Variables to score
* depe,deltae,spg(1,50),spe(1,50),spp(1,50),imode

real*8 depe,deltae,spg,spe,spp

integer imode

real*8 ! Arguments
real*8 totke

real*8 rnnow,etot

real*8 esumt

real*8 ! Local variables
* availke,avpe,avph,avspe,avspg,avspp,avte,desci2,ekin,pef,

* rrO,sigpe,sigte,sigph,sigspg,sigspe,sigspp,tef,wtin,wtsum,

* xi10,y10,z10

real*8
* ph(50),phpb(50,50),spgpb(1,50,50),spepb(1,50,50),
* spppb(1,50,50),pefpb(50),tefpb(50)

real ! Local variables
* elow,eup,rdet,rtcov,rtgap,tcov,tdet,tgap

real
* tarray(2),tt,tt0,ttl,cputime

integer
* 1,icases,idin,ie,ifti,ifto,ii,1iiz,imed,ireg,isam,
* isot,izn,nlist,j,k,n,ndet,nd,nbatch,ncaspb,
* ner,nofbat

character*24 medarr(3)

Units 7-26 are used in pegs and closed. It is better not
to use as output file. If they are used, they must be opened
after getcg etc. Unit for pict must be 39.

open(1,FILE="egsbjob.out’,STATUS="unknown’)
open(UNIT= 4,FILE="egsbjob.inp’,STATUS=01d’)
open(39,FILE="egs5job.pic’,STATUS=unknown’)

call counters_out(0)
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call block_set ! Initialize some general variables

nmed=3

medarr(1)="NAI ’
medarr(2)=’AL ’
medarr(3)=’QUARTZ ’

do j=1,nmed

do i=1,24

media(i,j)=medarr(j)(i:1i)

end do
end do
chard(1) = 3.81d0 ! optional, but recommended to invoke
chard(2) = 0.1d0 ! automatic step-size control
chard(3) = 0.5d0

write(1,#*) ’chard =’,(chard(j),j=1,3)

write(1,130)
130 FORMAT(’ PEGS5-call comes next’/)

npreci=2 ! PICT data mode for CGView

itbody=0

irppin=0

isphin=0

irccin=0

itorin=0

itrcin=0

izonin=0

itverr=0

igmmax=0

ifti = 4 ! Input unit number for cg—data
ifto = 39 ! Output unit number for PICT

write(39,100)

100 FORMAT(’CSTA’)
call geomgt(ifti,ifto)
write(39,110)

110 FORMAT(’CEND’)

nreg=izonin
if (nreg.gt.mxreg) then
write(1,120) nreg,mxreg

120 FORMAT(® NREG(=’,I12,’) must be less than MXREG(=’,I12,°)°’ /
* ’ You must change MXREG in include/egs5_h.f.’)
stop
end if

! Set medium index for each region
! Vacuum region

med (nreg)=0

med(2)=0 ! Inside vacuum
! Al region

med(1)=2

! Nal detector region
med(3)=1
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iedgfl(3)=1 ! 1:Produce flourscent X-rays
! 0:Flourscent X-ray is not produced

! Quartz region
med(4)=3

do i=1,4
if(i.ne.2) ecut(i)=0.561
end do

estepe=0.10
estepe2=0.20
write(1,140) estepe, estepe2
140 FORMAT(1X, ’ESTEPE at EKMAX: ’,F10.5,’ (estepe)’,
* /,1X, ESTEPE at ECUT: ’,F10.5,’ (estepe2)’)

Random number seeds. Must be defined before call hatch

or defaults will be used. inseed (1- 2731)

luxlev = 1

inseed=1

write(1,150) inseed

150  FORMAT(/,’ inseed=’,I12,5X,

* > (seed for generating unique sequences of Ranlux)’)

call rluxinit ! Initialize the Ranlux random-number generator

! Define initial variables for incident particle normally incident
! on the slab

iqin=0 ! Incident charge - photons
ekein=1.253 ! Kinetic energy

xin=0.0 ! Incident at origin

yin=0.0

zin=0.0

uin=0.0 ! Moving along z axis

vin=0.0

win=1.0

irin=1 ! Starts in region 2, could be 1
wtin=1.0 ! Weight = 1 since no variance reduction used
deltae=0.05 ! Energy bin of response

write(68,160)
160 format(’Key in source type. O:monodirectional, 1l:point isotropic’)

read(5,*) isot

! Maximum total energy of an electron for this problem must be
! defined before hatch call
emaxe = ekein + RM ! photon

write(1,170)

170  format(/’ Start ucnaicgv ’/
*’ Call hatch to get cross-section data’)

open(UNIT=KMPI,FILE=’"pgs5job.pegsbdat’,STATUS="01ld’)
open(UNIT=KMPO,FILE="egs5job.dummy’ ,STATUS=unknown’)

write(1,180)
180  FORMAT(/,’ HATCH-call comes next’,/)

call hatch
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close(UNIT=KMPI)
close(UNIT=KMPO)

! Print various data associated with each media (not region)
/I _-— -

write(1,190)
190 FORMAT(/,’ Quantities associated with each MEDIA:’)

do j=1,nmed
write(1,200) (media(i,j),i=1,24)
200 FORMAT(/,1X,2441)
write(1,210) rhom(j),rlcm(j)
210 FORMAT(5X,’ rho=’,G15.7,’ g/cu.cm rle=’,G15.7,’ cm’)
write(1,220) ae(j),ue(j)
220 FORMAT(5X,’ ae=’,G15.7,’ MeV  ue=’,G15.7,’ MeV’)
write(1,230) ap(j),up(j)
230 FORMAT(SX,’ ap=’,G15.7,’ MeV  up=’,G15.7,’ MeV’,/)
end do

! Print media and cutoff energies assigned to each region
/I -_-— -

do i=1,nreg
if (med(i) .eq. 0) then
write(1,240) i

240 FORMAT(’ medium(’,I3,’)=vacuum’)
else
write(1,250) i, (media(ii,med(i)),ii=1,24),ecut(i),pcut(i)
250 FORMAT(’ medlum( ,13,7)=,24A1,
* ’ecut=’, G10. 5,’ MeV pcut ’,G10.5,° MeV’)

if (iedgfl(i) .ne. 0) then ! Qutput X-ray energy
ner = nne(med(i))
do iiz=1,ner
izn = zelem(med(i),iiz) ! Atomic number of this element
write(1,260) izn
260 FORMAT(®  X-ray information for Z=’,I3)
write(1,270) (ekx(ll izn),ii=1,10)
270 FORMAT(’  K-X -ray energy in keV’,/,
* 4G15.5,/,4G15.5,/,2G15.5)
write(1,280) (e1x1(11 1zn) ii=1,8)
280 FORMAT(’ L-1 X-ray 1in keV ./, 4G15.5,/,4G15.5)
write(1,290) (elx2(ii,izn),ii=1,5)
290 FORMAT(’ L-2 X-ray 1in keV’ /, 5G15 5)
write(1,300) (elx3(ii,izn),ii=1,7)
300 FORMAT(’ L-3 X-ray 1in keV ./, 4G15 5,/,3G15.5)
end do
end if
end if
end do

write(39,310)
310 FORMAT(’MSTA’)
write(39,320) nreg
320 FORMAT(I4)
write(39,330) (med(i),i=1,nreg)
330 FORMAT(15I4)
write(39,340)
340 FORMAT(’MEND’)

write(8,350)
350 FORMAT(’ Key in mode. O:trajectory display, 1l:dose calculation’)
read(5,*) imode
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360

ncount = 0
ilines = 0
nwrite = 10
nlines = 10
idin = -1
totke = 0.
wtsum = O.

call ecnsv1i(0,nreg,totke)
call ntally(0,nreg)

write(1,360)

format(/,’ Energy/coordinates/direction cosines/etc.’,/,
6X,’e’,16X, x’,14X, y’ 14X,z /
1X,’u’,14X,’v’, 14X, w’,9%, ’iq’,4X, ’ir’,3X, ’iarg’,/)

ndet=1

Energy bin width
deltae=ekein / 50

Zero the variables
depe=0.D0
pef=0.D0
tef=0.D0
do j=1,50
ph(j)=0.D0O
do nd=1,ndet
spg(nd, j)=0.D0O
spe(nd, j)=0.D0
spp(nd, j)=0.D0O
end do
end do

Set histories, number of batch and histories per batch
write(6,*) (° Key in number of cases.’)

read(5,*) ncases
if (imode.eq.0) then

write(6,*) (’ Key in number of batch (=<50).?)

read(5,*) nbatch
else

nbatch = 50
end if
ncaspb = ncases / nbatch

tt=etime(tarray)
ttO=tarray(1)

370

380

do nofbat=1,nbatch

write(39,370) nofbat
format(’0’,I5)

do icases=1,ncaspb

wtsum = wtsum + wtin

etot = ekin + iabs(iqin)*RM

availke = etot + iqin*RM
totke = totke + availke

if (isot.eq.1) then
call randomset (rnnow)

! Start of CALL SHOWER loop

Initialize some energy-balance
tallying parameters (SJW)

! Keep running sum of weights
! Incident total energy (MeV)

Available K.E. (MeV) in system
! Keep running sum of KE

Sample isotropically.
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ziO0=rnnow

call randomset (rnnow)
xi0=2.0*rnnow-1.0

call randomset (rnnow)
yi0=2.0*rnnow-1.0

rrO0=dsqrt (xi0*xi0+yi0*yi0+zi0*zi0)
if(rr0.gt.1.0) go to 380

win = zi0/rr0

uin = xi0/rr0
vin = yiO/rr0
end if

if(irin.le.0.or.irin.gt.nreg) then
call srzone(xin,yin,zin,iqin+2,0,irinn)
call rstnxt(iqin+2,0,irinn)

else
irinn=irin

end if

if (ncount .le. nwrite .and. ilines .le. nlines) then
ilines = ilines + 1
write(1,390) etot,xin,yin,zin,uin,vin,win,iqin,irinn,idin
390 FORMAT(4G15.7/3G15.7,31I5)
end if

call shower (iqin,etot,xin,yin,zin,uin,vin,win,irinn,wtin)

! Added for energy balance tests (SJW)
if (DABS(eparte + epartd - ekin)/ekin .gt. 1.d-10) then
write(1,400) icases, eparte, epartd
400 FORMAT(’Error on # ’,I6,’ Escape = ’,F9.5,
* > Deposit = ’,F9.5)
end if

! If some energy is deposited inside detector add pulse-height
! and efficiency.

if (depe .gt. 0.DO) then
ie=depe/deltae + 1
if (ie .gt. 50) ie = 50
ph(ie)=ph(ie)+wtin
tef=tef + wtin
if(depeo.ﬁg. ekein*0.999) pef=pef +wtin

depe =
end Ef
ncount = ncount + 1 ! Count total number of actual cases
! _______________________
end do ! End of CALL SHOWER loop

! Calculate average value for this BATCH
do ie=1,50
phpb(ie,nofbat) = ph(ie) /ncaspb
ph(ie)=0.D0
end do
pefpb(nofbat)=pef / ncaspb
tefpb(nofbat)=tef /ncaspb
pef=0.D0
tef=0.D0
do nd=1,ndet
do ie=1,50
spgpb(nd,ie,nofbat)=spg(nd,ie)/ncaspb !photon spectrum
spepb(nd,ie,nofbat)=spe(nd,ie)/ncaspb !'electron spectrum
spppb(nd, ie,nofbat)=spp(nd,ie)/ncaspb !positron spectrum
spg(nd,ie)=0.DO
spe(nd,ie)=0.D0
spp(nd,ie)=0.D0
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440

450

470

end do
end do

call plotxyz(99,0,0,0.D0,0.D0,0.D0,0.D0,0,0.D0)

write(39,410) ! Set end of batch for CG View
FORMAT(’97)
! __________________
end do ! End of batch loop

tt=etime(tarray)

tti=tarray(1)

cputime=tt1-tt0

write(1,420) cputime

format(’ Elapsed Time (sec)=’,G15.5)

write(1,430) ncount,ncases,totke
FORMAT(/,’ Ncount=’,I10,’ (actual cases run)’,/,
* > Ncases=’,I110,’ (number of cases requested)’,/,

* >’ TotKE =’,G15.5,’ (total KE (MeV) in run)’)

if (totke .le. 0.D0O) then
write(1,440) totke,availke,ncount
FORMAT(//,’ Stopped in MAIN with TotKE=’,G15.5,/,
* > AvailKE=’,G15.5, /,’ Ncount=’,I10)
stop
end if

tdet=7.62
rdet=3.81
tcov=0.1
rtcov=0.1
tgap=0.5
rtgap=0.5
write(1,450) tdet,rdet,tcov,rtcov,tgap,rtgap
FORMAT(/’ Detector length=’,G15.5,’ cm’/
> Detector radius=’,G15.5,’ cm’/
> Al cover thickness=’,G10.2,’ cm’/
> Al cover side thickness=’,G10.2,’ cm’/
> Front gap =’,G10.2,’ cm’/’ Side gap =’,G10.2,’ cm’/)

* ¥ K K

write(1,460) ekin
FORMAT(’ Results for ’,G15.5,’HeV photon’/)

avpe + pefpb(j)/nbatch
desci2 = desci2 + pefpb(j)*pefpb(j)/nbatch
end do
sigpe = sqrt((desci2 - avpe*avpe)/(nbatch-1))
avpe = avpe*100.0
sigpe = sigpe*100.0
write(1,470) avpe,sigpe
FORMAT(’ Peak efficiency =’,G15.5,’+-’,G15.5,” %’)

avte = 0.DO
desci2 = 0.D0
do j = 1, nbatch
avte = avte + tefpb(j)/mbatch
desci2 = desci2 + tefpb(j)*tefpb(j)/nbatch
end do
sigte = sqrt((desci2 - avte*avte)/(nbatch-1))
avte = avte*100.0
sigte = sigte*100.0

I
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490

500

510

520

write(1,480)

avte,sigte

FORMAT(’ Total efficiency =’,G15.5,’+-’,G15.5,’ %)

write(1,490)

FORMAT(/’ Pulse height distribution ’)

do ie=1,50

elow=deltae*(ie-1)
eup=deltaex*ie

if (elow .gt. ekein ) go to 510
avph = 0.D0O
desci2 = 0.D0
do j = 1, nbatch
avph = avph + phpb(ie,j)/nbatch
desci2 = desci2 + phpb(ie,j)*phpb(ie,j)/nbatch
end do
sigph = sqrt((desci2 - avph*avph)/(nbatch-1))
avph = avph/deltae
sigph= sigph/deltae
write(1,500) eup,avph,sigph
FORMAT(’ E (upper-edge —-’,G10.4,’ MeV )=’,G15.5,’+-’,G15.5,
* > counts/MeV/incident’);
end do
continue

write(1,520)

FORMAT(/’ Particle spectrum crossing the detector plane’/

* 30X, ’particles/MeV/source photon’/
* > Upper energy’,11X,’ Gamma’,18X,’ Electron’,
* 14X,’ Positron’)

do nd=1,ndet
do ie=1,50

elow=deltae*(ie-1)
eup=deltaex*ie

if (elow

.gt. ekein ) go to 540

avspg = 0.DO
desci2 = 0.DO
do j = 1, nbatch

avspg = avspg + spgpb(nd,ie,j)/nbatch

desci2 = desci2 + spgpb(nd,ie,j)*spgpb(nd,ie,j)/nbatch

end do
sigspg =

sqrt((desci2 - avspg*avspg)/(nbatch-1))

avspg = avspg/deltae
sigspg= sigspg/deltae

avspe = 0.DO

desci2 =

0.DO

do j = 1, nbatch
avspe = avspe + spepb(nd,ie,j)/nbatch

desci2 = desci2 + spepb(nd,ie, j)*spepb(nd,ie,j)/nbatch

end do
sigspe =

sqrt((desci2 - avspe*avspe)/(nbatch-1))

avspe = avspe/deltae
sigspe= sigspe/deltae

avspp = 0.DO

desci2 =

0.DO
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do j = 1, nbatch
avspp = avspp + spppb(nd,ie,j)/nbatch

desci2 = desci2 + spppb(nd,ie, j)*spppb(nd,ie,j)/nbatch

end do

sigspp = sqrt((desci2 - avspp*avspp)/(nbatch-1))

avspp = avspp/deltae
sigspp= sigspp/deltae

write(1,530) eup,avspg,sigspg,avspe,sigspe,avspp,sigspp

530 FORMAT(G10.5,’ MeV--’,3(G12.5,’+-’,G12.5))
end do
end do

540 continue
nlist=1

if (imode.ne.0) then
close(1l,status=’keep’)

open(6,file="egsbjob.out’,access=’append’)

call ecnsvi(nlist,nreg,totke)
call ntally(nlist,nreg)

end if

600 continue
1

call counters_out(1)

| Version: 030831-1300
| Reference: SLAC-265 (p.19-20, Appendix 2)

123456789 | 123456789 | 123456789 | 123456789 | 123456789 | 123456789 | 12345678912

A AUSGAB to:

1) Score energy deposition

3) Print out particle transport information
4) call plotxyz if imode=0

I
]
!
! 2) Score particle information enter to detector from outside
]
!

subroutine ausgab(iarg)

implicit none

include ’include/egs5_h.f’ ! Main EGS file
include ’include/egs5_epcont.f’ ! COMMONs required by EGS5 code
include ’include/egs5_misc.f’

include ’include/egsb5_stack.f’

include ’include/egs5_useful.f’

include ’auxcommons/aux_h.f’ ! Auxiliary-code '"header'" file
include ’auxcommons/etalyl.f’ ! Auxiliary-code COMMONs
include ’auxcommons/lines.f’

include ’auxcommons/ntalyl.f’

include ’auxcommons/watch.f’

include ’auxcommons/etaly2.f’ ! Added SJW for energy balance

common/totals/ ! Variables to score
* deEe,deltae,s g(1,50),spe(1,50),spp(1,50),imode

real*8 depe,deltae,spg,spe,spp
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integer imode

integer ! Arguments
* iarg

real*8 ! Local variables
* edepwt

integer

* je,iql,irl
iql = iq(np)
edepwt = edep#*wt(np)

if (iarg .lt. 5) then
esum(iql+2,irl,iarg+1)
nsum(iql+2,irl,iarg+1)

esum(iql+2,irl,iarg+1l) + edepwt
nsum(iql+2,irl,iarg+l) + 1

added SJW for particle by particle energy balance
if(irl.eq.nreg) then
eparte = eparte + edepwt
else
epartd = epartd + edepwt
endif
end if

if (med(irl). eq. 1) then
depe = depe + edepwt

if (irl .ne. irold .and. iarg .eq. 0) then

if (iql .eq. 0) then ! photon
ie = e(np)/deltae +1
if(ie .gt. 50) ie = 50
spg(l,ie) = spg(l,ie) + wt(np)

elseif (iql .eq. -1) then I electron
ie = (e(np) - RM)/deltae +1
if(ie .gt. 50) ie = 50
spe(1l,ie) = spe(l,ie) + wt(np)

else ! positron
ie = (e(np) - RM)/deltae +1
if(ie .gt. 50) ie = 50
spp(1,ie) = spp(i,ie) + wt(np)

end 1f

end if
end if

if (ncount .le. nwrite .and. ilines .le. nlines) then
ilines = ilines + 1
write(1,101) e(np),x(np),y(np),z(np),ulnp),v(np),w(np),
* iql,irl,iarg

101 FORMAT(4G15.7/3G15.7,315)

end if
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! Output particle information for plot
]

if (imode.eq.0) then
call plotxyz(iarg,np,iq(np),x(np),y(ap),z(np),e(np),ir(np),

* wt(np))
end if

return
end

e last line of ausgab.f--—————"—-—-----------—-—
b howfar.f-----------\"\-----------—-
Version: 050716-1300
Reference: T. Torii and T. Sugita, "Development of PRESTA-CG

i
!
! Incorporating Combinatorial Geometry in EGS4/PRESTA'", JNC TN1410 2002-201,
! Japan Nuclear Cycle Development Institute (2002).

! Improved version is provided by T. Sugita. 7/27/2004

subroutine howfar
implicit none

include ’include/egs5_h.f’ ! Main EGS "header'" file
include ’include/egs5_epcont.f’ ! COMMONs required by EGS5 code
include ’include/egs5_stack.f’

include ’auxcommons/geom_common.f’ ! geom-common file

integer i,j,jjj,ir_np,nozone, jty,kno

inte§er irnear,irnext,irlold,irlfg,itvlfg,ihitcg

double precision xidd,yidd,zidd,x_np,y_np,z_np,u_np,v_np,w_np
double precision tval,tvalO,tval00,tvallO,tvalmn,delhow
double precision atvaltmp

integer iq_np

ir(np)
iq(np) + 2

ir_np
iq_np

if(ir_np.le.0) then
write(6,*) ’Stopped in howfar with ir(np) <=0’
stop

end if

if(ir_np.gt.izonin) then
write(6,*) ’Stopped in howfar with ir(np) > izonin’
stop

end if

if(ir_np.EQ.izonin) then
idisc=1
return

end if

tval=1.d4+30
itvalm=0

c body check
u_np=u(np)
v_np=v(np)
w_np=w(np)
x_np=x(np)
y-np=y (np)
z_np=z(np)

do i=1,nbbody(ir_np)
nozone=ABS(nbzone(i,ir_np))
jty=itblty(nozone)
kno=itblno(nozone)
c rpp check
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190

310

320

330

&

&

340

if(jty.eq.ityknd(1)) then
if(kno.le.0.or.kno.gt.irppin) go to 190
call rppcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)

sph check

elseif (jty.eq.ityknd(2)) then
if(kno.le.0.or.kno.gt.isphin) go to 190
call sphcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)

rcc check

elseif (jty.eq.ityknd(3)) then
if(kno.le.0.or.kno.gt.irccin) go to 190
call rcccgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)

trc check

elseif (jty.eq.ityknd(4)) then
if(kno.le.0.or.kno.gt.itrcin) go to 190
call trccgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)

tor check

elseif (jty.eq.ityknd(5)) then
if(kno.le.0.or.kno.gt.itorin) go to 190
call torcgl(kno,x_np,y_np,z_np,u_np,v_np,w_np)

add new geometry in here

end if
continue
end do

irnear=ir_np

if(itvalm.eq.0) then
tvalO=cgepsi
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
continue

if(x_np.ne.xidd.or.y_np.ne.yidd.or.z_np.ne.zidd) goto 320

tvalO=tval0*10.d0

xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
go to 310

continue

write(*,*) ’srzone:1’

call srzone(xidd,yidd,

if (irnext.ne.ir_np) th
tval=0.0d0
irnear=irnext
else
tval00=0.0d0
tvall0=10.0d0*tval0
irlold=ir_np
irlfg=0
continue
if(irlfg.eq.1) go to
tval00=tvalOO+tval
if(tval00.gt.1.0d+

write(6,9000) iq

zidd,iq_np,ir_np,irnext)

en

340
10
06) then

(np),ir(np),x(np),y(np),z(np),

u(np),v(np),w(np),tval00
9000 format(’ TVALOO ERROR :

2I3,1P7E12.5)
stop
end if

iq,ir,x,y,z,u,v,w,tval=’,

xidd=x_np+tvalOO0*u_np
yidd=y_np+tval00*v_np
zidd=z_np+tval00*w_np

call srzold(xidd,y
go to 330
continue

tval=tvalO0
do j=1,10

idd,zidd,irlold,irlfg)

x1dd=x_np+tval00*u_np
yidd=y_np+tval00*v_np
zidd=z_np+tval00*w_np
write(*,*) ’srzone:2’

call srzone(xidd,yidd,zidd,iq_np,irlold,irnext)
if(irnext.ne.irlold) then

tval=tvalO0
irnear=irnext
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440
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end if

tval00=tval00-tvall
end do
if(ir_np.eq.irnear) then

write(0,#*) ’ir(np),tval=’,ir_np,tval
end if

end if
else
do j=1,itvalm-1

do i=j+1,itvalm
if(atval(i).lt.atval(j)) then
atvaltmp=atval(i)
atval(i)=atval(j)
atval(j)=atvaltmp
endif
enddo

enddo

itvlfg=0
tvalmn=tval

do jjj=1,itvalm

if(tvalmn.gt.atval(jjj)) then
tvalmn=atval(jjj)
end if
delhow=cgeps2
tvalO=atval(jjj)+delhow
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
continue
if(x_np.ne.xidd.or.y_np.ne.yidd.or.z_np.ne.zidd) go to 420
delhow=delhow*10.d0
tvalO=atval(jjj)+delhow
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
go to 410
continue
write(*,*) ’srzone:3’
call srzone(xidd,yidd,zidd,iq_np,ir_np,irnext)
if((irnext.ne.ir_np.or.atval(jjj).ge.1.).and.
tval.gt.atval(jjj)) THEN
tval=atval(jjj)
irnear=irnext
itvlf§=1
oto 425
end if

end do
continue
if(itvlfg.eq.0) then

tvalO=cgmnst

xidd=x_np+tvalO*u_np

yidd=y_np+tvalO*v_np

zidd=z_np+tvalO*w_np

continue

if(x_np.ne.xidd.or.y_np.ne.yidd.or.z_np.ne.zidd) go to 440
tvalO=tval0#*10.40
xidd=x_np+tvalO*u_np
yidd=y_np+tvalO*v_np
zidd=z_np+tvalO*w_np
go to 430

continue

if (tvalmn.gt.tvalO) then
tval=tvalmn

else
tval=tvalO

end if

end if
end if
ihitcg=0
if(tval.le.ustep) then
ustep=tval
ihitcg=1
end if
if(ihitcg.eq.1) THEN
if (irnear.eq.0) THEN

write(6,9200) iq(np),ir(np),x(np),y(np),z(np),
u(np),v(np),w(np),tval

9200 format(’ TVAL ERROR : iq,ir,x,y,z,u,v,w,tval=’,2I3,1P7E12.5)

idisc=1
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itverr=itverr+1
if(itverr.ge.100) then
stop
end if
return
end if
irnew=irnear
if (irnew.ne.ir_np) then
call rstnxt(iq_np,ir_np,irnew)
endif
end if
return
end
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